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PHYSICS

Q.1

Q.2

Q.3

Q.4

Q.6

The dimensions of gravitational constant G are -
(1) [MLT?] (2) ML'T]
@) MLT @) MLT™]

A hall has the dimensions 10 m x 12 m x 14 m.
A fly starting at one corner ends up at a
diametrically opposite corner. What is the
magnitude of its displacement ?
(1)17m (2)26m

(3)36m 4)2lm

A car accelerates from rest at a constant rate o
for some time, after which it decelerates at a
constant rate B and comes to rest. If the total
time elapsed is t, then the maximum velocity
acquired by the car is -

ol +p? a? - p?
(1)( op Jt (2)[ op ]r
(o + Bt @) oft

of o+

©)

Two bodies of different masses m, and my, are
dropped from two different heights a and b. The
ratio of the time taken by the two to cover these

distances are -
(1) a:b

(3) Va: b

2)b:a
(4) a’: b’

A body dropped from top of a tower fall through
60 m during the last two seconds of its fall. The
height of tower is - (g = 10 m/s’)
(1)95m (2) 60 m
(3) 80m (4) 90 m

A body is thrown with a velocity of 9.8 m/s
making an angle of 30° with the horizontal. It
will hit the ground after a time -

D15s (2)1s
(3)3s 4)2s
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Q.1

Q.2

Q.3

Q.4

Q.6

TE fraaie Gt fammg € -
(1) [MLT™] (2) [ML'T?]
(3) [M'L’T (4) [M'LT ]

Th g8 HI B[99 10 m x 12 m x 14 m ®|
U Ad] U B W IS URW HRdl § oaed
faepoify famdia &= TR S 9% Bl B | 39
faremo= &1 fkmTor @y 8§ 2

(D17m (2)26 m
(3)36m (4)21m

Uh BR HB T D oy fRmEen 9 o @
fr qv 9 @Ra g 8, S 4] 98 B @
frg &v @ Afea el & den favrmRen # an
S 8| e | @da W ot 8, @ PR BN
T Siferped 97 @ B -

o) el

op ap
(o + Pt apt
@ = =

=1 gamE m, @ my, @ | 3T |1 A Sagal
adb ¥ A okt 81 S &l g1 g9 gl
& Y o Wl amua ¥ -

(1) a:b (2)b:a

(3) Ja: b @a*: v’

UF 9 P (P AR D AR 9 IRR S W
78 iR & aifsam <1 Jave & SR19 60 m FRen
g MR & S § - (2= 10 m/sY)

(1)95m (2) 60 m

(3)80m (4)90 m

U g DT AR A 30° H B9 g A 9.8 mu's
® A A bl ST € | FE e qHa a1 eRTa
¥ eHEwrRr -

(1D1.5s (2)1s
(3)3s 4)2s
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Q.7

Q.8

Q.9

Q.10

Q.11

A Dblock B is pushed momentarily along a
horizontal surface with an initial velocity v. If
| is the coefficient of sliding friction between
B and the surface, block B will come to rest after

a time ?
(1) guiv (2) glv
(3)vig (4) vi(g).

A block C of mass m is moving with velocity
Vo and collides elastically with block A of mass
m and connected to another block B of mass
2m through spring constant k. What is k if x, is
compression of spring when velocity of A and
B is same ?

(1) 1111\-’0 IHVO
b ‘?xﬂ
3 mvi 2 mv

@) =3 @ =2
2 KU 3 Xp

Three point masses m;, m, m; are located at the
vertices of an equilateral triangle of length 'a'.
The moment of inertia of the system about an
axis along the altitude of the triangle passing
through 1y is -

2

(1) (m; + ms) a? (2) (m; +my +1ms) a’
a 2 2
(3) (m; +m,) T (4) (my + m3) a°

If a sphere is rolling, the ratio of its rotational
kinetic energy to the total kinetic energy is -
(1)1:2 2)2:5

(3)2:7 45:7

Mass M is divided into two parts xM and (1 — x)
M. For a given separation, the value of x for
which the gravitational aftraction between the
two pieces becomes maximum is -

1 3
(1) 3 ) 3 (3)1 (4)2
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Q.7

Q.8

Q.9

Q.10

Q.11

H e B UE A 7% @ sy et wu
A URMIE 97 v I uefia fra o B IR
IS Ud Yo B & i wdieder one w8, @
Tl B fam wwe 9w fRmrazen 3 on S 2

(D gu/v (2) glv
(3)vig (4) v/(gp).

m SR B Th wdlid C, vo 91 W 7fehe 8
T T8 m SHHA B ild A b 1 YR
TNl € ol k 991 fradie @ ue R gRT 2m
T B TP I wih B W T g3 ¥ | k wW
B af} %o R &1 wdes 8 59 A @@ B @1
T A § 2

7l 2

nvy mvy

(1) =2 (2) —2

e P
(3) 3 mvo ) 2 2 mx:o
2 x} 3 x5

my, mp, my o9 g geE, 2 d=E & s
wwarg Prye & il @ R ) Fre &1 By
B HAE B AR my F [ORA ATA TH A& D
qﬁ‘ﬁm(ﬂﬁ:ﬂi% -

2
(1) (my + m3) % (2) (m; + my + ms) a’

aZ
(3) (m; +my) T

(4) (m; + ms) a’

gfe U@ el ged @l B, dl g guie i
oll e He RIS St B I § -

(1)1 2 (2)2:5

(3)2:7 (4)5:7
A M @1 &1 Wi xM aeit (1 —x) M 3 v
fopar srar 81 @ g @ forg, x @ e o
forg @1 g@el @ dra YEEETn 9@ aftnan
8 o, § -

1 3
(1) 2 (2) 3 (31 (4)2
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Q.12

Q.13

Q.14

Q.16

Q.17

It is desired to photograph the image of an object Q.12
placed at a distance of 3 m from a plane mirror.

The camera which is at a distance of 4.5 m from

the mirror hould be focussed for a distance of ?

(1)3m (2)4.5m

(3)6m (4)7.5m

A microscope is focussed on a mark on a piece
of paper and then a slab of glass of thickness
3 cm and refractive index 1.5 is placed over the
mark. How should be the microscope be moved
to get the mark again in focus ?

(1) 2 em upward (2) 1 cm upward

(3) 4.5 cm upward (4) 1 e downward

Q.13

A given ray of light suffers minimum deviation
in an equilateral prism P. Additional prisms Q
and R of identical shape and material are now
added to P, as shown in the figure. The 1ay will

suffer —
W\

(1) greater deviation

(2) same deviation

(3) no deviation

(4) total internal reflection

Q.14

In interference pattern, the energy is - Q.15
(1) created at the maximuimn

(2) destroyed at the minimum

(3) conserved but redistributed

(4) all of the above

The fringe width in Young's double slit Q.16
experiment increases when -

(1) wavelength increases

(2) distance between source and screen decreases

(3) distance between slits increases

(4) the width of the slits increases

The angle of deviation for a prism is greatest for -
(1) red colour (2) violet colour
(3) blue colour (4) green colour

Q.17

=
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U A UV W 3 m B g R X P ]
& wfafers @1 wrems foar oA g1 S99 W
45 m W T R Roa R @1 g @ w®

wiea forar s =nfed ?
(1)3m (2)4.5m
(3)6m (4)7.5m

T & TF ghe W ofl e ) va geadt
P BIHd fHar AT € T 9 WEE 3 cm a9
suadeia 1.5 ael B @ ed @ e @
e e M AT 1 e R s e s )
forg gewesit @1 e @ern 8 2
(1) 2 cm & 2) 1l cmew
(3) 4.5 cm SR @) 1cm¥

U& AHaTg o PR U@ g e # e
fraes a1 21 fErgwR S agfy @ o
frodl Q 3k R &1 i P # wirer wam ® | foeor #

BT -
hAVAN

(1) afdrep faae=

(2) T famrer

(3) g frae T8

(@) gof areRa wRTact

ARMHT A H, Tl -

(1) sfEae W S B &

(2) faftrss ox 7 €l &

(3) Wefera vt ¥ ofw g foaRa @i @
(4) SURYTH 33T

47 fafkere wam # vt arerE aed &, o9 -
(1) Teed ggar &

(2) Eird 3 ud & fig T Hed §

(3) Rerel & dra g agd

(4) Reret & e g &

frsw o1 fages wwr aifdeas 2, s & ford -

(1) @rel ¥ Q) d T
(3) e (4) &1
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Q.18

Q.19

Q.20

Q.21

Q.22

A simple pendulum 4 m long swings with an
amplitude of 0.2 m. What is its acceleration at
the ends of its path 7 (g =10 m/s")

(1) zero (2) 10 m/ s’

(3) 0.5 m/s’ (4) 2.5 m/s’

A pendulum of length 10 cm is hanged by wall
making an angle 3° with vertical. It is swinged to
position B. Time period of pendulum will be -

\\
6D \‘a
3? ~
~
~
3

®)
B

(1) /5 sec
21
(2) Esec

(3) /6 sec
(4) Subsequent motion will not be periodic

A point source is emitting sound in all directions.
The ratio of distance of two points from the point
source where the difference in loudness levels is
3dB. is - (log;p2=10.3) -

e 1 2

1
@ B @ @3

The apparent frequency of the whistle of an engine
changes by the ratio 5/3 as the engine passes a
stationary observer. If the velocity of sound is 340
m/s, then the velocity of the engine is -

(1) 340 /s (2) 170 m/s

(3) 85 m/s (4) 42.5m/s

For V versus T curves at constant pressure P,
and P, for an ideal gas shown in figure.
P,

/o

T —
(2) P, <P;

(4) ) = )

()P, >P;
(3) P, =P
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Q.18

Q.19

Q.20

Q.21

Q.22

4 m I Th R ierd 0.2 m 3MTE B WY
QI B & | 39D U B Aww fagel m gwe
@R R’ g ? (g=10 m/s°)

ORIl (2) 10 m/s’
(3) 0.5 m/s’ (4) 2.5 m/s

10 cm o771 U olleid Graiey & e 3° B DI
T Y8 TP AR | ded gl B 39 R B

TP AT ST & | AP B A e -

~

x 6°\‘\\k
0
B
A
(1) /5 sec
2n
2) —sec
(2) T
(3) ©/6 sec

(4) STRITR Tfd amadl =@ 2nf

e favg S e el # afy swfia & v
¥ fig & & & fagal & f & e o
eqf B geerl B wR 3dB B ® - (logio2 =0.3)

)-8
2

1 2

T gor @ T B st mafR 5/3 s @
afRafda &t 8 o9 g9 e Rew ded @ Ui
Bl & | afe e w1 9 340 mis B, T9 S @
I8 -

(1) 340 m/s
(3) 85 m/s

(2) 170 m/s
(4)42.5m/s

e el A & fore fAaa g9 Py @en PR R
# geigaR Va T@nl & forg

P,
| P
I 1
T —
(1)P,>P, (2)P1<P,
(3)P,=P; 4) P, 2P,
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Q.23

Q.24

Q.25

Q.26

Q.27

Q.28

Q.29

Four particles have speeds 2, 3, 4 and 5 cm/s
respectively. Their rms speed is-

(1) 3.5 cm/s (2) 27/2) c's
(3) /54 cm/'s (@) (\/54/2) c/s

If solar constant of earth is S and radius of earth
is 1 then total heat receive by earth per sec.

(1) S x 4nr” @) S x 271

(3) Smr® @S

The mean lives of a radioactive substance are 1620
year and 405 year for o-emission and [-emission
respectively. Find the time dwing which thiee-
fourth of a sample will decay if it is decaying both
by a-emission and B-emission simultaneously.

(1) 249 years (2) 449 years

(3) 133 years (4) 99 years

A nucleus at rest splits into two nuclear parts
having radii in the ratio 1 : 2. Their velocities are
in ratio -
MW1:2 @1:4 (@R)4:1 @PH8:1

A particle of mass 1 mg has the same wavelength
as an electron moving with a velocity of
3 x 10% nw/s. The velocity of the particle is -

(1) 3% 107" s (2) 2.7 x 107" /s

(3)27 %10 m/s  (4) None of these

A resistor 30 Q, inductor of reactance 10 € and
capacitor of reactance 10 Q are connected in
series to an AC voltage source e = 300\/5 sin (cot).
The current in the circuit is -

(1) 1042 A (2) 10 A
(3) 30411 A 4) 30/411 A

In an AC circuit the emf (e) and the current (i) at
any instant are given respectively by
e = Eq sin ot, i = Iy sin (ot — ¢)
The average power in the circuit over one cycle
of ACis -
Eolo

=

(1) 5 cos ¢ (2) Eolp
Eol, E,JI, .
(3) T (4) T s l‘.b
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Q.23

Q.24

Q.26

Q.27

Q.28

Q.29

TR BT O BTl U 2, 3, 4 997 5 cm/s B |
D! g9 WG o AA B -

(1)3.5cm/s (2) (27/2) cm/s
(3) V54 cnvs (4) (/54 /2) cnv/s

afg gedft &1 AR Fgais S den gedt @ e 1
g @ et grT O AwvS U (receive) q[E
ST 8-

(1S ><14n1’2 (2)S x 2mr”

(3) Snr’ 4)S

T Mearafthg ueied @1 o-Scei de p-Scur
@ forg wieg ey @rer wee: 1620 99 dor 405 99
2| 98 wg g AR AR R ts T @
d= ders g B e g} g ve @
O-IRTO AT B-IAS SRl g &fie B ¥E B
(1) 249 79 (2) 449 g

(3) 133 o (4) 99 a9

favrm % Rerg e wifie @) wnf¥aa wrl # g2
e 8, foera fromel &1 srun 1: 2 B S5
AT BT AU B -

(1}1:2 (2)1:4 (@3)4:1 @8:1

1 mg S & Yd BT B axareed, 3 x 10° m/s
T A W AEE Ud geldgE B e &
FAF B | O BT AT B -

(1)3 % 107" m/s (2)2.7 x 107 m/s
(3)2.7x 108 mfs  (4) T & PIE T

T 30 QuitRiy &1 gfiRie®s, 10 Q wfdend &
T WRE qdl 10 Q ufrEma w1 v GeilE, E
AC dreedm Wi e = 3004/2 sin (eot) / Aofips
TS 8| aRuy F ¢=y 2 -

(1) 102 A (2)10 A

(3) 30411 A (4) 30/4/11 A

Th AC uRuel ¥ fagd aEd qol (¢) @ fhe
v yx Ry (1) sEer e g iR Y R
e =E, sin wt, 1= I, sin (ot — ¢)

AC® TP = & aH alRuy 7 aiaa ofts ® -

(1) % cos ¢ (2) Eoly
Eol, Eoly .
(3) ——-2 (4) ———2 sin ¢
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Q.30

Q.31

Q.32

Q.33

Q.34

In the given circuit, the current through the Q.30
resistor 2 kQis —
W
1kQ
+
20V, _ 12V s
(1)2 mA (2) 4 mA
(3) 6 mA (4) 10 mA
A pure Ge specimen is doped with Al. The Q.31
number density of acceptor atoms is
approximately 10”7 m™. If density of electron
hole pair in an intrinsic semiconductor is
approximately 10" m~, the number density of
electrons in the specimen is -
(1)10*m™ (2) 10*m™
(3)10" m™ (4) 10" m™
The combination of the following gates produces - Q.32
A ) E‘ :
B Y
(1) AND gate (2) NAND gate
(3) NOR gate (4) OR gate
The real angle of dip, if a magnet is suspended at Q.33
an angle of 30° to the magnetic meridian and the
dip needle makes an angle of 45° with horizontal
is -
(1) tan™" [@] (2) tan™'(¥/3)
3 2
(3) tan™ \P (4) tan™ [;]
[ 2 V3
A galvanometer of resistance 50 Q is connected Q.34

to a battery of 3V along with a resistance of 2950
Q in series. A full scale deflection of 30
divisions is obtained in the galvanometer. In
order to reduce this deflection to 20 divisions the
resistance in series should be -

(1)4450 Q (2) 5050 @
(3)5550 Q (4) 6050 Q
AVIRAL CLASSES
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&4 T gRuy # iR 2 kQ W yaifed 9k & -

YW
1kQ
w 2kQ
20V, _ 12v
(1) 2mA (2) 4 mA
(3) 6 mA (4) 10 mA

F g Ge (Hfram) 6 § Al agfg & w0 ¥
fremn S 2| W wREgel @ wen uee
102 m7 81 O} v Ao srgas ¥ goas-Ee
g & g 10 m” #, o T g o
He&AT T B -

(1) 10* m™ (2)10° m™
(3) 107 m™ 4 10° m™
g }—[' »—v
(1) AND e (2) NAND e
(3) NOR e (4) OR e

If} e aRIRR H U6 gEe B 30° DI W
SehE ST B, 79 A g3 AR d 450 @1 v
gt & | arafde Af B -

(1) tan™ [g] (2) tan™'(+/3 )

(4) tan™ [72_5]

afeRy 50 Q & TP aRE B 3V B gh ded
derr 2950 Q B yfaRer & Sl #® e Ty ¥
9 gRETR F 30 9N @7 g gol tam v fad
ot fopar war B ) g9 fad @ 20 i g v
b ford ffew § owam femr S aren

gfeRyy B =@mfey -

(1) 4450 © (2) 5050 Q

(3) 5550 Q (4) 6050 Q
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Q.35

Q.36

Q.37

Current I is flowing in a conductor shaped as
shown in the figure. The radius of curved part is
r and length of straight portion is very large. The
value of the magnetic field at the centre O will
be -

1
L
I
oo
Wol [ 3m ol [371: ]
1 2 —-1
M 4m‘[ } @ 4mr | 2
Hol | Hel |7
3 —+1 4 —-1
()4111'[2 ] ()47rr[2 :|

The resultant force on the current loop PQRS
due to a long current carrying conductor will be -

S R
— >
20AA A Y

pL 2% ot
e—sle—10 cin—!
:2cm

1

()10 N
(3)1.8%x 107N

(2)3.6x 107N
(4)5x107*N

The equivalent resistance between the points A
and B will be - (each resistance is 15 Q)
15Q

15Q2
(H30Q 28Q
(3)10Q (4)40 Q
AVIRAL CLASSES
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Q.35

Q.36

Q.37

forr % wefRfa gl & arere & gafRa a1 1 8|
A Tsh 9N B B ¢ 7 aen e w1 s
TS BT & | s O TR FHH &5 HT 9 ® -

Udh o URTAE! didd & HRY 9N g PQRS
R gROR T B -

SA_” R

20AA A A 4

——15 cm—*

2

=

P A

l—>le——10 cin—n
i2em

1
1

(1) 10N
(3)1.8%x107*N

A

Q

(2)3.6x 107N
4)5% 107N

famgell A Gen B & dra gou ufiRg 8 —

F RN 15 Q &1 B)
150

2)8Q
(4)40 Q
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Q.38

Q.39

Q.40

In the circuit shown, if the 10 Q resistance is
replaced by 20 Q then what is the amount of

current drawn from the battery ?

(1)10 A
(3)8 A

The internal resistance of a cell of emf 4 V is
0.1Q. It is connected to a resistance of 3.9Q. The
voltage across the cell will be -

(H39V

22V

(3)o1V

438V

Two spherical conductors A and B of radii a and
b(b > a) are placed concentrically in air. B is
given a charge +Q and A is earthed. The equivalent

capacitance of the system is -

+F Tt

+Q
(1)4nsg[ﬂ]

b-a
(2) 4neg(a+b)
(3) 4neeb

(4) 47:30[ bb_'a ]
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yefde afue § afe 10 Q & wfoRig &1 20 Q &
yfeRiy g favenfua fvar o, o9 92 o off T8

N1 B 7= T e 9

(1)10A
(3)8A

faaras 4 V arel A &7 iRa gforke 0.1Q 8|
9 3.9Q ufiRe & Sirer R B | e R e
B -

(1)39V

(2)2V

(3)0.1V

4)38V

= a 3R b(b > a) & A Tl ATEd A IR B
g H e W ¥ B ® Ue emaw +Q fam
TR dl A B qEEhd fRar T B | AHra B
ey el anf -

(1)47:30[%]

(2) 4neg(a+b)
(3) 4negb

b2
) 4n30[b_a ]
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Q.41

Q.42

Q.43

Four metallic plates, each with a surface area of Q.41
one side A and placed at a distance d from each
other. The plates are connected as shown in the
fig. Then the capacitance of the system between
aand bis -
. a
2 7
3
4 iy
3y A
2g, A
o 3 lhmatic s
2 q
2, A
3 i i
(3) = T d
35, A
R
Two infinitely long parallel wires having linear Q.42
charge densities A, and A, respectively are
placed at a distance of R metres. The force per
unit length on either wire will be {K . ] ;
4ne,
207,
NK———=
(1 7
202
o) ) G
(2 R
M,
MA
K12
4 R
A point charge q is placed at a distance a2 Q43

directly above the centre of a square of side a.
The electric flux through the square is -

CREATING SCHOLARS

mlL @) L
&g TE,
3 4
iy 430 e 630
AVIRAL CLASSES

U &FhE A T Uh-geR W d g W §| @l
B Ao AR WSl T B 9 a AR b B
& werr @) g ® -

25 A
€) '3~—~—

o A
d

EL
A s A A e D 2 O T G | O
g B Ay 9 Ay B, WRER R WX @ @ W
@l T B | RN v AR W Ui e oarg @
‘ms‘m[K= L ]

4re

g
R2
Ok
R
B

(HK

2K

A
RZ
I}'E

(%

3K

@k

R

U g a9 q, Yol a & T a1 & B & b
TR /2 A W W B g A YoRA aren fagd
TR B -

1L @ L
€ r:eo

ny -d 4

®) 4e, W 630
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Q.44 Three concentric conducting spherical shells

Q.45

have radii r, 2r and 31 and charges q;, g and g;
respectively. Innermost and outermost shells are
earthed as shown in the figure. Select the correct

alternatives -

@qu+0=-q (h)q1=-%2
© 2= @ 2=
1 qQz 3
(I)a,b (2)b,c
(3)a,b, c (4)b,c,d

About an electric field, which of the following
statements are not true ?

(a) If E = 0, V must be zero

(b) If V=0, E must be zero

(c) If E = 0, V cannot be zero

(d) If V = 0, E cannot be zero

B

CREATING SCHOLARS

(I)a,b (2) b, c
B)b,c,d (@) a,b,cd
AVIRAL CLASSES

Q.44

Q.45

IS [ B = | o P | i 2 e - 1 B T 2 A Ol
T 31 Y4 AW HEY: qp. q T @ B | WO
ER el qAl Gy el BiE B EEgER
qerfdd v Rar sien 8 | 9 Reed gf -

(2)b, c
)b, c,d

w fem & & an #, e & & P s
T TE 8 2

() IR E=0,d Voreg I ®

(b) oy V=0, E 3y g ®

(c) af E =0, V 3y =18l & wabell &

(d) afd V# 0. <h E g0 8 & asan @

(D ab (2)b, ¢
(3)b,c,d (4)a,b,c.d
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CHEMISTRY

Q.46

Q.47

Q.48

Q.49

Following solutions at the same temperature will

be isotonic:

(1) 3.42 g of cane sugar in one litre water and
0.18 g of glucose in one litre water

(2) 3.42 g of cane sugar in one litre water and
0.18 g of glucose in 0.1 litre water

(3) 3.42 g of cane sugar in one litre water and
0.585 g of NaCl in one litre water

(4) 342 g of cane sugar in one litre water and
1.17 g of NaCl in one litre water

In the following first order competing reactions:
A + Reagent — Product

B + Reagent —» Product

The ratio of Ky/K; if only 50% of B will have
been reacted when 94% of A has been reacted is:
(1) 4.06 (2) 0.246

(3)2.06 (4) 0.06

In a system: A(s) == 2B(g) + 3C(g). If the
concenfration of C at equilibrium is increased by a
factor 2, it will cause the equilibrium concentration
of B to change to

(1) Two times of its original value

(2) One half of its original value

(3) 2\5 times of its original value

4) e times of its original value

22

K, for HCN is 5 x 107 at 25°C. For maintaining a
constant pH of 9, the volume of 5SM KCN solution
required to be added to 10 mL of 2 M HCN
solution is:

(1) 4 mL (2) 7.95 mL

(3)2mL (4)9.3 mL

Select the correct statement-

(a) The ionic crystal of AgBr has schottky defect.

(b) The unit cell having crystal parameters,
a=b==c,o=p=90°y=120°is hexagonal

(c) In ionic compounds having frenkel defect the
ratio "/ is high

(d) The co-ordination number of Na* ion in NaCl

56
(Ia,b (2)a, b, ¢
(3)b,d (4da,c
AVIRAL CLASSES

CREATING SCHOLARS

Q.46

Q.47

Q.48

Q.49

Q.50

BT faeae A a1 9 AHORIER 81 —

(1) T <fleR S H 3.42 g &GN A T
Hex 5 # 0.18 g B

(2) TH e W W 342 g SgUSY Tl
0.1 #fTex &eT 3 0.18 g Te@iof

(3) U@ oex W W 342 g &N aA Th
wex Wil # 0.585 g, NaCl

(@) T e oa ¥ 3.42 g RGN TN TE
Y Wl # 1.17 gNaCl

=1 germ wife o aifafsranalt

A + 3fwied — Ieg

B + 3@ — Seaig

afe A & 94% T B & 50% b &% g BN
& @9 Ky/K, @1 ST BrT—

(1) 4.06 (2) 0.246

(3) 2.06 (4) 0.06

e A(s) ==2B(g) + 3C() § 991 R af C
B A B GYN BRfmn IR Al B @ W
e ¥ aRee 8 —

(1) s0d arafaeds A= BT I

(2) 39 IR A BT AN

(3) 39D aRGfAD T BI242 A

(4)@%%%@%.5 Rl

25°C T HCN & fordl K, 5 % 107 | pH =9 &)
fRex gy wa @ for 2M HCN faems &
10 mL % 5M KCN fierast @ faseem smaast e

aifRy ?

(1) 4 mL (2) 7.95 mL
(3) 2mL (4)9.3mL
HE B BT T DIforI—

(a) AgBr @ amafie fibtee # die @ a9 8 ¥

(b) v et a = b #c, o= B = 90° y = 120°
gad §arE Fiftsw vepniig g ® |

(c) wdd QY gl ImafE Afdl § 47 @
U ST B # |

(d) NaCl % Na" 311 &) wwwaa e 6 8l & |

(a,b (2)a,b,c

(3)b.d (4)a,c
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Q.51

Q.52

pH of a 0.1 M monobasic acid is measured to be
2. Its osmotic pressure at a given temperature
TKis-

(1)0.1RT
(3) 1.1RT

(2)0.11RT
(4)0.01RT

The pressure of hydrogen gas is increased from
1 atm to 100 atm. Keeping the H™ (1 M)
constant, the voltage of the hydrogen half-cell at
25°C will be -
(1)0.059 V
(3)0.0259 Vv

(2) 059V
(4)-0.059 V

Half-life of a reaction becomes half when initial
concentrations of reactants are made double. The
order of reaction will be -
M1 (2)2 (3)0 )3

An aqueous solution is 1.00 molal in KI. Which
change will cause the vapour pressure of the
solution to increase ?

(1) Addition of NaCl

(2) Addition of Na,SOy

(3) Addition of 1.00 molal KI

(4) Addition of water

The exhibition of highest coordination number
depends on the availability of vacant orbitals in
the central atom. Which of the following
elements is not likely to act as central atom in
[MFJ* ?

(I)B (2) Al (3) Ga (4)In

Conc. HNO; can be stored in container of
(1) Al (2) Zn (3) Cu (4) Sn

The tendency of BF;, BCl; and BBr; to behave
as Lewis acid decreasing in the sequence :

(1) BF;> BC].3 > BBr;

(2) BCl; > BF; > BBr3

(3) BB13 > BCl; > BF;

(4) BBr; > BF ;> BCl,

Which of the following two are isostructural ?
(1) XeFE,,IF, (2) NH3, BF;
(3) €05, 80% (4) PCls, ICls

AVIRAL CLASSES

CREATING SCHOLARS

Q.51

Q.52

Q.53

Q.54

Q.56

Q.57

Q.58

0.1 M Ushel &I %A &1 pH, 2 a7 7147 | o

T @9 TK T S0 WRR &9 & -
(1) 0.1 RT (2) 0.11 RT
(3) 1.1RT (4) 0.01 RT

gEgiod I ® &9 # 1 atm ¥ 100 atm Th
Fern | H (1 M) &1 Rer 3&m g3, 25°C W)
EISSIoT el Bl diees] BN -

(1)0.059 Vv (2) 059V

(3) 0.0259 V (4) - 0.059 V

g fhareRel B URMRIE  digasi B g
fbar oA o siffbar A eid-smyg sl & o
2| aifafrn & ;e B -

11 @2 ()0 4) 3

KI &1 wietg fawms 1.00 #ee B =1 & 9
DI IR B FRY RAeas & a9 g F iy
g 2

(1) NaCl faem w=

(2) Na,SO, fem av

(3) 1.00 AreTer K1 faram W

@) ve e W

SeEH SUNENAISH W derd e § Re
BEPI P U@ W iR B ® ) e W @
I e, [MFg)™ ¥ Bl TR &) oRE drY
TE B B ?

(B (2) Al

(3) Ga (4) In

s HNO; @1 fhwres ura 3 gRfdre v o @
(1) Al ()Zn (3)Cu (4 Sn

BF;, BCl; @21 BBr; @1 g4 3R @l TN @deR
B DY YA B WE TS Ol B B

(1) BF; > BCl; > BBr3

(2) BCl; > BF; > BBr;

(3) BBr; > BCl; > BF;

(4) BBr3 > BF3; > BCl;

BIFTAT A GERIEAAD 8 -
(1) XeE,,IF; (2) NH., BF;
(3) CO¥,s0% (4) PCls, ICls
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Q.59

Q.60

Q.61

Q.62

Q.63

Q.64

The basic character of the hydrides of group
15 elements decreases in the order :

(1) NH3 > PH3 > ASH3 > Sng

(2) SbH; > AsH; > PH; > NH;

(3) NH; > SbH; > PH; > AsH;

(4) SbH; > PH; > AsH; > NH;

Q.59

Which of the
hydrolysed?
(1) SFs

following is most easily Q.60

(2)NF; (3)CCly (4) TeFs
Which of the following is not correct about the
chemistry of 3d and 4f-series elements?

(1) 3d-series clements show more oxidation

Q.61

states than 4f series elements

(2) The energy difference between 3d and
4s-orbitals is very small

(3) Europium (II) is more stable than cerium (II)

(4) The magnetic 3d-series
elements increases from Sc to Cu

character in

Among the following the coloured compound is :
(1) CuCl (2) CuF,
(3) Ks[Cu(CN)4] (4) [Cu(CH3;CN)4JBE,

Q.62

Which of the following will show optical isomerism? Q.63

(1) [cma\rﬁami;* (2) [ZnCly™ 3
() [CH(C:0:):]  (4) [Co(CN)s]*

When excess of ammonia is added to copper Q.64

sulphate solution the deep blue coloured
complex is formed. The complex is :

(1) tetrahedral, paramagnetic

(2) tetrahedral, diamagnetic

(3) square planar, paramagnetic

(4) square planar, diamagnetic

The correct order of ionic radii of Ce, La, Pm
and Yb in +3 oxidation state is :

(1) La’" < Pm’* < ce** + Yb**

(2) La** < Ce’" < Pm*" < Yb**

(3) YO < Ce®* < Pm’ < La™

(4) YO < Pm™ < ce* < L™

Q.65

AVIRAL CLASSES

CREATING SCHOLARS

w15 B awl B ERSEEd D ARG U Bl
Hedl gl |el $H 8!

(1) NH; > PH; > AsH; > SbH;

(2) SbH; > AsH; > PH; > NH;

(3) NH; > SbH; > PH; > AsH;

(4) Sng > PH3 > ASH; >NI‘I3

BEar Afe 9aifde sra ¥ we smEfed
B 82
(1) SFs (2) NF;

(3) CCly  (4) TeFs

3d e 4f-rft & aw@l @ AT & wed o

TAd AT & -

(1) 4f o) & aal @ emer 3d-2oh & T
Afde aifefieeo araen guid @

(2) 3d T 4s-BEB] D T Holl BT AN d5A
HH Bl B

(3) gRiftgH (1), DRaw () & 3ifde Rl g @

(4) 3d-#roft & T ¥ Sc W Cu TF graHg YN
¥ gfg 8 @

i e 2
(1) Cucl (2) CuF,
(3) K3[Cu(CN)4] (4) [Cu(CH3;CN)4]BF 4

e o 9 e uwi¥e waraaar gutdar 22

(1) [CuNH3)4]* (2) [ZnCL])™
(3) [C2(C204)5] (4) [Co(CN)6]*

smfa & onfeg § B wewe s feam
w® TR e W b1 dge Fiffa g §) g
B :

(1) IghBIY, ATgrEDI

(2) Tdsperdd, SRiegEsy

(3) @ FHTANY, gD

(@) T wHeelry, Uy

+3 aifefideor arwen § Ce, La, Pm @ Yb @
arafe fAeamRl @ a8 @9 ©

(1) La** <Pm*" < ¢ + Yb**

(2) La*" < ce** < Pm** < Yb**

(3) YO < Ce* < Pm’ < La**

4) Yo' <Pm*" < Ce** <La®*
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Q.66

Q.67

Q.68

Q.69

2-methyl-2-butene is represented as :

T
(1) CH3—C|I=CHCH3 (2) CH,~CH,~C=CH,

CH;

(3) CH;-CH-CH=CH, (4) CH;—~C-CH,-CH;

| I
CH; CH,

The final product obtained in the reaction is -

@ CHiCH,COCl_ . CHiNH;

AlCl; Hy,Ni
(1) H;C-NH @—cmcn,cm

NHCH;
O

I
®) @—CH;—CH;—C—NHCH;
1
(4) @C—CH;CH;NHCH;

When compound undergoes
ozonolysis followed by treatment with H,O/Zn,
it produces glyoxal, monomethylglyoxal and
dimethylglyoxal. It could be :

(1) benzene (2) toluene

(3) o-xylene (4) m-xylene

an aromatic

The final product obtained in the reaction is :
CH,=CHCH,CH,CO,H —2;
4

(1) BiC Hg—(|ZTH—CH3CH3C O.H

OH
(2) HOCH,-CH,CH,CH,CO,H
CH-CH;
(3) BiCH,-CH =0

eyt

4) (|?H ~CH~CH,-CH,-CO
)

AVIRAL CLASSES
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Q.66

Q.67

Q.68

Q.69

A= 4 ¥ o 2-9e-2-9d B
CH;

|
(1) CH--C=CHCH;  (2) CH,~CH,-C=CH,

CH;
3) CHg—(|ZH—CH=CH3 4) CH;—(|T“—CH3~CH3
CH3 CHz

TURIT JrfHfspar # wrwe S1fvaH SeTe § ¢

CH:CH,COCl . CH:NH,
AICls Ha, Ni
@) @?HCH;C&

NHCH;
0O

I
3) @CHQ—CHE—C—NHCHg
]
) @C—CH@H;NHCH;

th WiARE ANfite B S srEeT aqudn
H,O/Zn @& ¥ SUaiRd & WX Tergsitaid,
A ferageiiaie dur SEARer  Tengsiaie
it g 8 | Aiffre 2w

(1) doh= (2) Sfgda

(3) o-wirgfer (4) m-sirgfer

aififdhan o oS S R
CH3=CHCH3CH3COaHﬂ>

(1) B1‘CH3—C|‘H—CH3CH3C03H

OH
(2) HOCH,-CH,CH,CH,CO,H
CH,-CH,
(3) BrCH,-CH C=0

T 5 /
4 (|?H3—CH3—CH3—CH3—CO
6]
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Q.70

Q.71

Q.72

Q.73

Q.74

CH:CH,COOH

In the reaction of phenol with CHCl; and
aqueous NaOH at 345 K, the species attacking
the ring is :
(1) CHCl;
(3) coCL

Q.70

(2) CHCL
(4) :CCl,

Which of the following does not occurs during
the formation of CHCl; from C,HsOH and
bleaching powder?
(1) Oxidation

(3) Hydrolysis

Q.71

(2) Reduction
(4) Chlorination

Q.72

Which of the following structures can exist as
cis-trans isomers?
(1) CH;CH,CH,CH=CHCH,CH;
(2) CH;CH,CH,CH,CH,CH,CH=CH,
s CH3CH2>
CH;CH;
(4) All the above

C=CH-CH;

The final product (III) obtained in the reaction
sequence is :

Q.73

PCl, 1 CyHy N NH,NH,

AL, base heat

(1 @— CH,CH,CH;
(2 @ (|Z‘H—CH3—CH3

OH
0]

|

3) @-c'uocmcns
|

(4) C-CH,CH;

Which is the major product obtained in the
following reaction?

> 11T

Q.74

(|3H3 OH
H,S0
CH3-<]:- CH-CH, -T“>
CH;

(1) (CH3),C=C(CH3), (2) (CH;);C-CH=CH,
(3) (CH;3),C=CHCH; (4) (CH;),C=CHCH,CH;

AVIRAL CLASSES

CREATING SCHOLARS

CH;CH,COOH

345 K WY CHCL; @en wieg NaOH & @rer fb=ier
P arfifehar ¥ gorg W amsmHUeR TN

(1) CHCls (2) CHClL,
(3) COCL, 4) :CCLy

CH;0H wen favsies 9of & CHCl; &1 famfor
B UR AT TE B 82

(1) sffefimzT (2) e

(3) ST 3TqERH (4) FNOHI

= % R e anne-fauy weeafaa
® w9 # B 27

(1) CHs;CH,CH,CH=CHCH,CH;

(2) CHs:CH,CH,CH,CH,CH,CH=CH,

CH;CH
@) “>C=CH-CH
CH;CHy” i

(4) STRYFT T

fo=r aifdferar orgere 3 urer eifr Seare (1) 2-
Rl pp Gy qp. NENEL Ly
AlCl; base, heat

(1) @ CH,CH,CHj
2) @— (|Z‘H—CH3—CH3
OH

|
3) @(':—ocmcm

T
“4) @ C-CH,CH,

for=1 aifdfhan # ura g S § -
(ngOH

| 3
CH3—C|‘— CH - CH; A0

CH;
(1) (CH3),C=C(CHs), (2) (CH3):C-CH=CH,
(3) (CH,),C=CHCH, (4) (CH,),C=CHCH,CH,
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Q.75

Q.76

Q.77

Q.78

Q.79

Arrange phenol (I), cyclohexanol (II), 2.4.6-
trinitrophenol (III) and acetic acid (IV) in order

of acidity
(HII>1v>I>0 @) I>0O>MM>1IV
BGII>I>1I>1V  (4HI>I1>IV>1I

Which of the following statement is incorrect? Q.76

(1) An Syl reaction proceeds with inversion of

configuration

(2) An  S\2  reaction  proceeds — with
stereochemical inversion

(3) An Sy2 reaction follows second-order

kinetics
(4) The reaction of tert. butyl bromide with OH

follows first-order kinetics

Acetyl chloride does not react with
(a) ethanol (b) ethanal

Q.77

(c) diethyl ether (d) acetone
(I)ab (2)b,d
(3)a,c (4)a,b,c

Which of the following compounds, on being Q.78
warmed with iodine solution and NaOH, will

give iodoform ?

(a) CH;CH,OH (b) CH3;COCH;
HiC

(c) >CHOH (d) CH;0H
HiC

(ab (2)b.d

(3)only d (4)a.bc

Which one of the following statements is not Q.79
correct ?

(1) Oxidation number of S in (NHy), S;0gis + 6

(2) Oxidation number of Os in OsOy4 is + 8

(3) Oxidation number of S in H,SOs is + 8
(4) Oxidation number of O in KO, is - %

AVIRAL CLASSES

CREATING SCHOLARS

fpiter (), WRFaRaEe (1), 2.4.6-FEga-
fResiter (L) @on qeifes arver (IV) &) sl
B TE B B -

() I >IV>1>1I
G UI>I>T>IV

(2 I1>I>0>IV
@) I>I>IV> I

=1 % & e BUA 7 -

(1) Syl sifaftear udio afafd=ars & wrr o=
g 8

(2) Sy2 afafrar fBfaw wras udfma & @
=1 B §

(3) Sy2 fafhar g +fe afte @1 wrem
Fell B

@) qhus wRe Awgs B OH & @
aifafshar wuw wife e @1 ures B ©

wifed wivss fhas @ fhar T oy

(a) QT (b) T
(c) srsufdrer gex (d) weirer
(I)ab (2)b.d
(3)ac (4) ab.c

i 2 2 2 e 1 i Y1 A A o o M 1
NaOH & 912 T8 &+ U¥ JMarersis ure en

(a) CH;CH,OH (b) CH;COCH;
H;C

(c) >CHOH (d) CH;0H
H;C

(1) ab (2)b,d

(3) daet d (4)ab.c

=1 & SR woE W TE R

(1) (NHy); S:0g 5 S @) 3iferftexvr dwar + 6
B B

(2) OsO4# Os @ aifafievor e + 8 A1t B |

(3) H,SOs # S &) aiferfravor wem + 8 Bl 2 |

(4) KO, 5 O® aﬁa@wm—%ﬁeﬁh
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Q.80

Q.81

Q.82

Q.83

A 291 g sample of a gaseous compound that Q.80
contains only boron and hydrogen has a volume
of 122 L at 25°C and 1.09 atm. What is the
formula of this compound?
(AW:H=101,B=10.8u)
(1) B-Hs (2) B4Ho
(3) BsHy (4) BeHio
In conversion of lime-stone to lime, Q.81
C3C03(5) —> CaOg + COyg
The value of AH® and AS® are + 179.1 k mol™
and 160.2 J/K respectively at 298 K and 1 bar.
Assuming that AH®° and AS° do not change
with temperature, temperature above which
conversion of lime-stone to lime will be
spontaneous is -
(1) 1008 K (2) 1200 K
(3) 845K 4) 1118 K
Given the equations : Q.82
:11- Py(s)— P(g); AH® =+ 74.2 keal
;)l-Hz(g)—> H(g); AH® =+ 52.1 kcal
P(g) + 3H(g) — PHs(g) : AH°=-229.3 keal
Determine the overall change in enthalpy, AH, for
4PH;(g) —> Py(s) + 6H,(g)
(1)— 4.8 kcal (2) — 2.2 keal
(3) + 2.2 kcal (4) +12.7 kcal
The rate constants k; and k, for two different Q.83

reactions are 10 €T and 10" %07,

respectively. The temperature at which k; =k is:
2000

1 K 2) 2000 K
M 2.303 @
1000
3 K 4) 1000 K
3) 5303 )
AVIRAL CLASSES

CREATING SCHOLARS

25°C @ 1.09 atm R R d@fe & 291 g
T H Bad 1.22 L mmad @GR den
glgglo SuRed & | g9 AIffe &1 ¥H 8 -
(AW:H=101,B=10.8u)

(1) BoHs (2) BsHio
(3) BsHy (4) B¢Hio

SEH ¥ (1 TeR) & ed (FAn) # uRadH
CaCO;( —> CaOg) + COyp ¥

298 K @1 1 R WX AH® @1 AS® & HIF He:
+ 179.1 k mol™ @em 160.2 J/K ®| @8 I+l
§C & AHC @ AS® @ @ @i smRafia vEd
g 98 @9 oD SR @IEH WA B s o
aRad @@ 8, § -

(1) 1008 K
(3) 845K

(2) 1200 K
(4) 1118 K

A e Giee g B

% Py(s)— P(g): AH°=+74.2kcal

*;)I“Hz(g)—* H(g) : °=+52.1kcal

P(g) + 3H(g) —> PHi(g) ; AH°=—229.3 kcal
TG 4PHy(g) —> Pu(s) + 6Hx(g) & ford
et # qof gRecds AH # o o —

(1) —4.8 kcal (2) —2.2 kcal
(3) +2.2 kecal (4) + 12.7 kcal

a1 f=1 sifdfhanell & forg 9 Remiw k; 9 ko
we: 10" 70T g 10" 20T § | frw @ W
k1=k2_ﬁ"'la'| g

2000
) ey 2) 2000 K
W 2.303 @
1000
D) e I 4) 1000 K
(3) 5303 4)
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Q.84

Q.86

Q.87

Which of the following statements are correct?

(a) The energy of light is inversely proportional
to wavelength

(b) Electrons behave as both waves and
particles

(c) The typical atom can emit only certain type
energy if excited

(d) Infrared radiations have higher energy than
gama 1ays

(1) (a), (b) and (c)

(3) (b) and (d)

(2) (a) and (c)
(4) only (d)

What set of quantum number is NOT possible?
n l my m,

(1) 2 1 1
(2) 2 1 -1

(3) 3 2 2

R= = = -

4 3 3 -3

Which of the following alkenes is most reactive
towards cationic polymerisation :

(1) Styrene

(2) Propene

(3) CH,=CH-Cl

(4) CH,=CH-COOCH;

Which of the following pair of molecules will

have permanent dipole moment for both
members?
(1) NO; and CO,

(3) SIF4 and CO:

(2) NO; and O,
(4) SLF4 and NO:

AVIRAL CLASSES

CREATING SCHOLARS

Q.84

Q.86

Q.87

5 B B B v B 2 a4

(a) BT B Goll, TG & GSpATII Bl
8

(b) Soradei, TR G HU Al Dl TRE JdER
BT B

(c) T wwdl uxHY] wae Fi¥Ew e o
Hol Ifid X ada 8| Al 59 sl
faran <y

(d) sravaer fafdeel @ wol, W fevoi @
3% BN ®

(1) (a), (b) T ()

(3) (b) Term (d)

(2) (a) @11 ()
(4) B9 (d)

FIUCH TR BT Bl Ao TR TEl B?

n ! ny 1m;

1

1) 2 1 1 A
(1) 2
1

2) 2 1 -1 =
(2) >
(3) 3 2 2 4
2

(4) 3 3 -3 i
2

frst 3 @ PR g gafe agadeRe @
ufa waife framie 2.

(1) Tergd

(2) wrdis

(3) CH,=CH-Cl

)
)
)
(4) CH;=CH-COOCH;

et % @ S el B g™ SFT wERl @
forg el faya syl w@w?

(1) NO, @211 CO; (2) NO, 211 O;
(3) SiF4 @11 CO, (4) SiF, 21T NO,
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Q.88

Q.89

Q.90

Which of the following factor may be regarded

as the main cause of lanthanoids contraction?

(1) Poor shielding of one of the 4f-electrons by
another in the subshell

(2) Effective shielding of one of the 4f-electrons
by another in the subshell

(3) Poorer shielding of 5d and 6s-electrons by
4f-electrons

(4) Greater
4f-electrons

shielding of 5d-electrons by

At temperature, 7, a compound 4B, dissociates
according to the reaction; 24B,g) == 24B() + By
with a degree of dissociation x, which is small
compared with unity. The expression for K, in

terms of x and the total pressure, Pis -

Py’ Px?

Rt oy 2
(1) 5 2 3

Py’ Py’
(3) Ey 4) 5

Which of following statements is false?

(1) Increase of pressure of a gas causes the
amount of adsorption to increase

(2) Increase of temperature may increase oI
decrease the amount of adsorption

(3) The adsorption may be monolayer or
multilayer

(4) Particle size of the adsorbent does not affect
the amount of adsorption
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= ¥ ¥ P FRE TOEES WHEd b e

HRY & W9 H HaET B Wehell & ?

(1) SUYSI § 30 golae g Ud 4f-goidei
R HH gRRE0

(2) SUPIE o TSRl ERT UF AL-FARM
@1 guTd gRvET

(3) Af-gerasi &R 5d @ Gs-geldel B A
qRveTor

(4) Af-goragiM gRT Sd-godaet @1 affeaw
gfReror

au T W UG AME  AByy. A
24Byg) == 24B) + By P IJER fAAE e
& R e &) 71 x @ S tHid B o
B BN B I x TN FAI I LS TR H K, &
forg easis 2 -

P’ Px’

R 7)) |
(1) > (2) 3

Py’ Px?
(3) 3 (4) k

=1 % & P U T § 2

(1) ¥ & <@ # gfyg, afdrewor & == o1 g
a8

(2) am # gfy, fQeeer S 7 B g7 AT U
gl B

(3) arfreNor el a1 ggeld € W §

(4) SIfress & P BT SMHR ARG B AT
@ A S8 S
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BIOLOGY

Q.91

Q.92

Q.93

Q.94

Dihybrid ratio is :
(AL T el

2)3:1

(3)9:3:3:1
@152 (204 1152 1152 5l

Mendel crossed plants with red and white

flowers. In the F; only red flowered plants were

found. Two F; plants were crossed and in F,

generation 2950 red & 1050 white flowered

plants were obtained. It is reasonable, he

conclude that :

(1) Mutation had occurred

(2) The genes for white flower is incompletely
dominant

(3) The probability of white flowered plant is 1/4

(4) No reason can be attributed

Match the genetic phenomenon with their
respective ratios :

Column-I Column-II
A. | Duplicate generatio | 1. |3:1
B. | Complementary 2 T f 1 X
gene ratio
C. | Monohybrid ratio 3. || 12430 1
D. | Dihybrid test cross 1544
ratio
E. | Epistasis ratio 5.19:7

(1)A=5B=4,C=3,D=2,E=1
2)A=1,B=2,C=4,D=3,E=5
3)A=4,B=5,C=1,D=2,E=3
4 A=2,B=1,C=4,D=5,E=3

Mother homozygous B, and father s
homozygous A. What will be the possible blood
group in their progeny?

(1) AB and B possible  (2) AB and A possible

(3) AB possible (4) O possible
Q.95 Whatis Trihybrid test cross ratio -

(1) 1:1 (2) 1:1:1:1

(3) 1:1:1:1:1: 10000 49:3:3:1
§ AVIRAL CLASSES

Q.91

Q.92

Q.93

Q.94

fFeaR agu B :
1)y 1 :ds 1
2)3:1
(3)9:3:3:1

()2 2028 400 208 2034

HUSE T WTel TR ¥ gl arel el @1 i
HYar | Fy % $ae oel I a7l URY 9 Y|
gl F, 91gqi &1 Hid S qen F, 9l § 2950
e g7 e 1050 Y| g drel U™ ure §Y |
gUB! IO U ey Farer

(1) S<afRac g

(2) wa g9 & forg o el wa & g B

(3) 99T g} aTel UTGHi B HHET 1/4 B

(4) 3D DI BRI &I B Tepell

fre= # ofigerf¥ie gReea vd I ST &
e e S

-l -1
A. | fg® SiiFl arure 1. 31
B. | W& o argure | 2. | 1:1:1:1
C. | gohaer gur 3.(12:3:1
D. | fazisvor oRemef | 4. [ 15:1
GERECE IR
E. | ggorn 3. | 957

(1)A=5B=4,C=3,D=2,E=1
2)A=1,B=2,C=4,D=3,E=5
(3)A=4,B=5,C=1,D=2,E=3
4)A=2,B=1,C=4,D=5,E=3

gfe e wwgorh B @ far awgeash A B @
M ATl Welfa § v W 8 ?

(1) AB 9B ®7d (2) AB @ A ™7d

(3) AB W™ (4) O wm1E

ey aRerr d&vor @1 e B -

(1) 1:1 (2) 1:1:1:1
3y 1:1:1:1:1:1:11 4)9:3:3:1
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Q.96

Q.97

Q.98

Q.99

A piece of DNA if needed to be propagated
during recombinant DNA procedure requires a
vector, because vector have -

(1) Origin of replication site

(2) Origin of transcription site

(3) Origin of translation site

(4) All the above

Which symbol of pedigree is correctly matched ?

€8] <> —Female

2) <5> — Affected offspring
T ] — : i
(3) Affected male of autosomal recessive

disease

(4) EI:_O — Marriage between relatives

A crop scientist spliced genes for disease

resistance into Ti plasmids and then treated

tomato plants with the plasmids. Some parts of

some plants resisted the disease, but most of the

plants eventually died. The researcher could

increase his chances of success by -

(1) Using molecular probes to figure out where
to put genes

(2) Treating single cells and cloning whole plant
from the cells

(3) Using R plasmids rather than Ti plasmids to
introduce the genes

(4) Inserting the genes into the cells of a tomato
plant with a needle

Gel electrophoresis is used for:

(1) construction of recombinant DNA by joining
with cloning vectors

(2) isolation of DNA molecule

(3) cutting of DNA into fragments

(4) separation of DNA fragments according to
their size
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T DNA &1 @ve giirerT DNA @ ufan ¥ 9
B IMALH Bk &, Fifh dED ¥ BT B -

(1) geiafd zere &) Seafa

(2) Sl e & Sy

(3) IrgATE WA B SR

(4) SR 9

BT G Fepa el e w7
(1) — wfger

(2)@41411%{?:%%
(3) —sq‘la‘m‘m?vr ATt &y TR 0T
(4)[':0—?@“@‘%% wen foare

e @ e Ti wnvws § A akRgT &

forg N dUR B B G CHER B UEY B

ifore & WY STARd FRO1 ¥ | FO W >

O AF A RN o AfF aiffrere wmew W

Q| ASE TH B [HGT DY g@T bl

gl-

(1) 58t o ) 78 § Sud g # oo
IRt BT ST PN |

(2) Ther ®R@RE B SUERE w 8T
HIf¥rwRT A Tl ey @ g g

(3) O RUFTR & g Ti wnfors & W
R w5 &1 ITAIT $Y

(4) g gx1 TR Uy @ wifRmERt § W
GG

Sl gAaIBRR (Jgd HURIE) B ST

feres forg fapan o & 2

(1) @i aE®l & Wl Se &R gadierE
DNA &1 g191 ST1

(2) DNA 319 Pl gIdh HIAl

(3) DNA &1 @vei # HIeH]

(4) DNA @Wvel &1 S WES B AR YeIH
HIA
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Q.100 What is true?

(1) Flavr Savr Tomato has more ethylene for
improving tasts

(2) Btin Bt cotton signifies biotechnology

(3) Anticoagulant hirudin 1is produced by
transgenic Brassica napus seeds

(4) Somatic hybridization involves fusion of
two complete cells with desired genes.

Q.101 Match the following

Q.102

Q.103

Q.104

Q.105

Column-I Column-II
(1) |Down's Syndrome 1) |44 +XY
(2) Klinefelter's (i) |45+ XY
Syndrome
(3) |Turner's Syndrome | (iii) |44 + XO
@) |Phenylketonuria (iv) |44 + XXY

A B € D

1 i ivoodi i
@) i voodi i

G¢) i ii i v
@ i ii v i

Carcinoma refers to

(1) Malignant tumours of the connective tissue

(2) Malignant tumours of the skin or mucous
membrane

(3) Malignant tumours of the colon

(4) Benign tumours of the connective tissue

Which drug is usually snorted is known to
suddenly increase the B.P., increase heart rate &
create a false feeling of enhanced energy in the
body ?

(1) Ganja
(3) Charas

(2) Brown sugar
(4) Cocaine

‘Sharbati Sonora’ variety of wheat is an example of -
(1) Transgenic plant

(2) Genetically engineered variety

(3) Induced mutation

(4) Fungus resistant variety

In which of the following method, new plant is
formed with meiosis but without fertilization-

(1) Apospory (2) Adventive embryony
(3) Apogamy (4) None of the above
AVIRAL CLASSES
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FT AT B ?

(1) ®fGY WaR <HeX H wWig dg™ B oy
sursfer oifd® BT B |

(2) Bt ®urT ¥ Bt wigiienfiata Suafdy g

(3) ufwfea fRefes giwofs afer o
dIoil g Sanfad 8 8

(4) oI waxor § gifod o ga &1 gof
BIFRBIY ol § T a9 2

=1 @1 gEfera Hifog
Column-I Column-II
) |srea Rrem 0 [44+XY
Q) |gemsToeex Regm ([ (45 +XY
@) |zt Rimgm (i) |44 +XO
@ |frmsedergRar (v) |44 +XXY
A B C D
1y i iv iii i
(2) i iv iii i
G) i ii iii iv
4 i i iv iii
SR W T aef §
(1) FAreh FeTd & g g
(2) wren srar o feell & gev ey
(3) gga3 & gaw Aqe
(4) WAl Sad B YIH g
=1 % @ fhe oitefy & wr=ra: J1E & Hemw

A Yudy iafed fFar sren 8 den i B.P. @
Iz dell §ed WEd & Bl qgnd B 9 IR A
ol gfe & S srEEr B ART Bl B

(1) TS (2) FT YR

(3) T (4) P

g B IR AEART B e @ SErER B -
(1) TRTSTEY TrEy

(2) arEifire et fhw

(3) URa saRad=

4) Had ufaQen forw

=1 3 < i) 2fd §, 7 urew srERE e
&R WReg = e & o § -

(1) ST (2) TR YoTe
(3) rqTHT (4) SRIaT B TGl
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Q.106

Q.107

Q.108

Q.109

In angiosperms, the following events occur during
megasporogenesis and megagametogenesis -

(a) Meiosis of the megaspore mother cell

(b) Formation of a linear tetrad

(c) Fusion of the polar nuclei

(d) Formation of the embryosac

(e) Differentiation of the megaspore mother cell
(f) Degeneration of 3 megaspores

(g) Mitotic division of the functional megaspore
The cormrect sequence of events is-

(1) (@). (), ). (d). ). (©. (&)

2) (). (@), (). ®), (). (c), (&)

(3) (). (a). (). (). (. (c), (d)

@ (@), @, ©). (@, (). (. ()

Callus is induced to form shoots when the culture
contains-

(1) Auxin only

(2) Cytokinin only

(3) More auxin than cytokinin

(4) More cytokinin than auxin

Which of the following is not a ecosystem
service -

(1) Soil formation

(2) Variety development in crops

(3) Pollination

(4) Water conservation

Match List-I with List-II and select correct
answer -

List-I (Varieties) List-IT (Crops)
(A) Pusa Komal (i) Brassica
(B) Pusa Gaurav (11) Wheat
(C) Pusa Sadabahar (iii)Cowpea
(D) Pusa Subhra (iv) Okra
(E) Parbhani Kranti (v) Chilli
(F) Himgiri (vi) Cauliflower

A B C D E F

=

CREATING SCHOLARS

(1) i1 vi v iv i

(2) ii i v oovioivoii

3 ii v i vi vl

4) i i v ooivoovi i
AVIRAL CLASSES

Q.106

Q.107

Q.108

Q.109

IS H RS ST q YA D
g o et B 8-

(a) THAISITY] A1 PG H e e
(b) Y& agss &1 i

(€) g =Dl B AU

(d) YErPIY BT T

(e) AT AT PINHT BT fdgT

() 3 THASTURIT B T B

(g) frarers wdeTy & wREN e
TRl @1 Wl B ® -

(1) (@), (b), (c), (@), (e), (. (8)

(2) (e). (@), (b), (0, (@). (). (&)

(3) (e), (a), (b), (2). (D (c), (d)

) (e), (@), (b), (), (@), (d), (©)

dow ¥y fwior GRa g & w9 wdds o
SufRerd @ -

(1) daet 3itfeRTT

(2) Hat WGSBS

(3) TrseraTsT A e siifeR

(4) 3fffRT 9 1 wgSIHISMT

et % @ B aifRas Jar 78§ -

(1) 71 &1 fwior

(2) wwel # e Ao

(3) W

(4) STl T ARE

A1 B AL & we Fer S qen w8
IR BT AT BIOH -

A1 () gA-II (¥
(A) g1 BIFe (i) afver (wew)
(B) g1 TiRg (i) 7
(C) g1 HeTHER (1i1) BT
(D) ga1 g (iv) s (Frod)
(E) wRw+ whifer (v) fad
(F) fwfd (vi) werirf

A B C D E F
(1) iii i vi ovooiv i
() ili i v ooviooiv i
R)ii v i vi dvoii
(4) iii i v ooivoovioi
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Q.110 In given figwe showing contribution of green  Q.110 RF & frm # & &Ra 78 A4l & FERE B
house gases, the A, B, C, D are — yefdfa ev @1 &, A,B,C,D&—
A A

A B € D A B C D
() €O, CFCs N,0 CH, (1) Cco, CFCs N,O CH,
() CHy CFCs €O, N,0 ) CHy CFCs CO, N0
(3) N,0 CFCs CH; CO, (3) N.O CFCs CHy CO
(4 CFCs N,O CHy CO, 4) CFCs NO CHs CO,

Q.111 Protistan considered as connecting link between  Q.111 Wfe¥ew &1 Rl vd el & wWed QAo

plants and animals is distinguished by which one B! AT W B g M A 9 e Swg dem
of the following animal feature ? BN e fRean < g £7
(1) Spores formation (1) €y o
(2) Holophytic (2) Ty
(3) Longitudinal binary fission (3) Taq TfEveH
(4) Spermatization (4) wiergeem
Q.112 Select the correct statements. Q112 ¥ B ghy—
I. From the region of elongation, some of the I Qefex &x & o e Ifmy 9o
epidermal cells form root hairs. A g 2
II. Pneumatophores are seen in Rhizophora. I gAY, AESHR A W W 8|
III. Adventitious roots are seen in banyan tree. II. 3¥ente Jol avve gef & E o B
IV. Maize and sugarcane have prop roots. IV. 51 g =1 3 w1 qe B 2
() Iand IV ()ITEIV
()L Iland IV @) LI IV
(3) III and IV (3) I 74 IV
(4) I1 and III (4) I 74 T
Q.113 Main axis continues to grow. the flowers are  Q.113 ¥ 3fe1 e g el &, o1 fardt o §
borne laterally in acropetal succession. This is a qred w7 ¥ 9= B9 B 98 59 UPR P
characteristic of which type of inflorescence ? quTshH b AR B
(1) Cymose (1) wfremeh
(2) Racemose (2) orrenef)
(3) Either (1) or (2) @) ()W Q)
(4) Both (1) and (2) @) (1) @) &

AVIRAL CLASSES .
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Q.114 TIdentify A, B and C indicated in diagram of 1oot

apex given below.

(1) A—Vascular bundle, B—Epidermis,
C-Root apical meristem
(2) A—Cortex, B-Epidermis,
C—Root apical meristerm
(3) A—Cortex, B-Protoderm,
C-Root apical meristerm
(4) A—Cortex, B-Stele,
C—Root apical meristerm

Q.115 Which one single organisms or the pair of

organisms is correctly assigned to its or their

named taxonomic group ?

(1) Yeast used in making bread and beer is a
fungus

(2) Nostoc and Anabaena are examples of
protista

(3) Paramecium and Plasmodium belong to the
same kingdom as that of Penicillium

(4) Lichen is a composite organism formed
from the symbiofic association of an algae
and a protozoan

Q.116 Bryophytes comprise -

(1) Dominant phase of gametophyte which
produces spores

(2) Small sporophyte phase and generally
parasitic on gametophyte

(3) Sporophyte is of longer duration

(4) Dominant phase of sporophyte which is
parasitic

)
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M R 7o il & o & AR A, Ba C &t

(1) A—as g, B-ifdrem,
C-e1 oY fawsaas
(2) A-deme, B-aifoH,
C—at MY frsdis
(3) A—dede, B-SiersH,
C-ve1 Ny frwsdias
(4) A-demE, B,
C—e Y fvsaias

B g g @ a1 oSrer affie @ @

A A T e W 2

(1) dre, e suam g€ o feaw g o
BT & T THR B Hab B B

(2) Aiteta vd vAfas, Wifevel & SemER B |

(3) YAt vd @i 9 S @
waft & fraw dffiferam f &)

(4) @EHT UH dgaa ofd & o 6 dara vd
ST D TEoNdl Hael & e & |

AAMBEEET H BT § -

(1) gwHIge & gurdl sraeen S ] S
B B

(2) BI& AR SR T HHRE: gEHbIGE
IR ORI

(3) dromugfie e orafy @ e B

(4) NoEfie @ gard Even S P aond)
Bl B
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Q.117 Plants reproducing by spores such as mosses and

ferns are grouped under the general term -
(1) Cryptogams (2) Bryophytes
(3) Sporophytes (4) Thallophytes

Q.118 Examine the figure A, B, C and D. In which one

of the four options all the items A, B, C and D
are correct ?

Q.117

Q.118

e S @S gRT S B 8, SRy A g
T B A fhe wE # Y T R -

(1) i (2) STTBTEEH

(3) wRrEe (4) dreiipTge

frg A, B, C W@ D @& fARegw #ifsg| =Rl
fadedl # 9 fbed @Rl A, B, CUdD Wel & ?

Options :
A B C D
() Chara Marchantia Fucus Pinus
(2) Equisetum Ginkgo Selaginella Lycopodium
(3) Seleginella Equisetum Salvinia Ginkgo
€3] Funaria Adiantum Salvinia Riccia

Q.119 Best defined function of Manganese in green

Q.120

plants is -

(1) Nitrogen fixation
(2) Water absorption
(3) Photolysis of water
(4) Calvincycle

Glycolysis -

(1) Takes place in the mitochondria

(2) Produces no ATP

(3) Has no connection with electron transport
chain

(4) Reduces two molecules of NAD" for gvery
glucose molecule processed

=
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A

B C D
(1) Ea| HYes R R YT
(2) sfwfien firt Rrafmen ey
(3) FelRren gfaRes e firm
4)  wpERm ufewew  wifeafem Rferran
w et # A &1 groe FE Er R -

(1) =rggror RefRevor
(2) STeT @1 STqLTOT

(3) STl P B ATEEH
(4) BfeT o

TARTDTATIR -

(1) wrgeraif~ga ¥ B 8

(2) P ATP S+ &l HT

(3) gorast gRaET sf@e & W HIS Hael &l
B |

(4) 9 TGP Y] SRR A B R @)
NAD" 319] &1 3rafda el 2 |

www.aviral.ac.in




Q.121

Q.122

Q.123

Q.124

Q.125

Q.126

Among the nitrogenous bases involved in DNA
and RNA formation, the double ring base is -

(1) Uracil (2) Guanine

(3) Thymine (4) Cytosine

Sun light is the only source of energy for all
ecosystems on earth except deep sea hydrothermal
ecosystem. What is the source of energy in such
ecosystems ?

(1) Organic compound (2) Inorganic compound
(3) Water currents  (4) Warm vents

Nagative geotropism is commonly found in -
(1) Orchid root (2) Ficus 1oot
(3) Rhizophoraroot (4) Traparoot

Match the list-I with list-II and select correct
answer

List-I List-II

(A) Monarch butter fly and Birds | (i) + |+
(B) Goatand grass (ii)+ |-
(C) Ticks and Dogs (iii)+| 0
(D) Barnacles on whale (iv)— |-

A B C D
() o 111 I v
(2) I v I I
3) I 11 I I
4) I I I I

‘Which of the following is not a pait of dicot embryo ?
(1) Plumule

(2) Hypocotyl

(3) Coleoptile

(4) Redicel

Green stems of unlimited growth, which have
taken over the function of photosynthesis is
called

(1) Phylloclades

(2) Tendrils

(3) Modified shoot

(4) Inflorescence
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DNA U9 RNA fefor & wfafem asgiermma
aRI H ¥ fgae &R & —

(1) g¥Rre (2) ui=

(3) emafas (4) reied

9ol TR $ad G & UHTY & THAA ol Bl
wd B, TRY wgE sreemda mRRefE 3 B
BISHY | 59 YHR & URRIS! a3 7 ol @
i a1 8 ?
(1) Prdfe e
(3) el GRIY

) swdfe e
(4) ¥ RTY

FOTcHD e Tgaciad] ARTFIeal Irg Sl & -
(1) onfds 7t & (2) wIgHE I A
(3) TgSIERT o A (4) ZrO0 @ A

GAN-1 B G-Il & Tl e =) a2 T8 ST
BT GAG B

-1 -1

(A) "= ferelt aem el @ +|+
(B) I} T BT (i) + |-
(C) fera<) aur g (iii)+ | 0
(D) ® W IHBRI (iv) - |-

A B C D
(1) I I I Y
(2) I v 11 111
(3) I 1l 11 III
(4) I I II I

= 9 pien wr fgdea= o & a8 80
(1) wreH

(2) MTI=NYR

(3) wigRE

ORGIEA

i gfg aren & W o & uerer Weeryol
®1 B B 8, FEAT 2 |

(1) TomHET ™

(2) W

(3) wur<IRe &=

(4) guTenH
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Q.127

Q.128

Q.129

Which of the following statements are true ?

I. The stem is with solid nodes and hollow
internodes, is called caudex.

I. Comm is a condensed form of rhizome
growing more or less in vertical direction.

III. Sucker is an underground modification of

stem.

IV. Biparous type of cymose is seen in Saraca.

(DIandIV

(2) II Only

(3) Il and III

(4)III and IV

'Exarch' is the condition of Primary xylem in

which

(1) Protoxylem lies toward the outside and
metaxylem lies inward

(2) Metaxylem lies toward the outside and
protoxylem lies inward

(3) Metaxylem lies toward the lateral side and
protoxylem lies inward

(4) Protoxylem lies toward the lateral side and
metaxylem lies inward

Match the following columns.
Column I Column II
(Types of phyllotaxy) (Name)

A. Single leaf arises
at each node.

1. Whorled phyllotaxy

B. Pair of leaf arises
at nodes

C. More than two
leaves arises at

2. Opposite phyllotaxy

3. Alternate phyllotaxy

CREATING SCHOLARS

each nodes
Codes A B C
1) 3 2 1
(2) 3 1 2
(3) 1 2 3
(4) 1 3 2
AVIRAL CLASSES

Q.127
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Q.129

o1 & W B pU A ® P

I. &9 ud 9 9 @ ud gid WR B
DT PEU 2|

I w9dg, S fen F o9 a1 s g9fg ava
§Y TS B T H BT B |

IIL 3 YRR T B AT SR E |

Iv. Rl yor & wimelt qusE W #
T e g |

(HIgdIv

(2) daet I

(3) 11 g IIT

(4) I ga IV

e Sged @ gERTRered araRen 7 —

(1) MSTGEH aTEX B Y TG HSIIeTH MG
B SR AT B

(2) eroTaEH 9iER @ SR Td WISTeH iEy
o SR A B

(3) WEToTIe® UIed @ IR Td WEITaed 3igY
B AR B B

(4) WIRISRIGH UTed @ 3fX Y4 HSTared 3igy
B AR B B

ot Tt @1 e Sfdo—

T w1

(avifa=ard & UBHR) (=117)

A. U@ Ui W us 1. a@fba geifasms
oof I BN B

B. v &1 g Ud 2. 9HE quifa=gra
gdafy R I
B R |

C. ude ydaft o g1 3. var=iRa goifawaa
3 3 gof S

Bt B
Bre A B C
(1) 3 2 1
() 3 1 2
(3) 1 2 3
(4) 1 3 2
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Q.130

Q.131

Q.132

Q.133

Given below is the diagram of a bacteriophage.
In which one of the options in all the four parts
A, B, C and D are correct ?

Options :
A B C D
(1) | Tail Head Sheath Collar
fibres
(2) | Sheath | Collar Head Tail
fibres
(3) | Head Sheath Collar Tail
fibres
(4) | Collar Tail Head Sheath
fibres

Which one is not a character of green algae ?

(1) Presence of pyrenoid

(2) Photosynthetic  pigments,
chlorophyll-b and carotenoids

(3) Lateral orientation of flagella

(4) Isokont flagellation

chlorophyll-a,

The primary acceptor, during CO; fixation in Cs
plants, is -

(1) Phosphoenolpyruvate (PEP)

(2) Ribulose 1, 5-diphosphate (RuDP)

(3) Phosphoglyceric acid (PGA)

(4) Ribulose monophosphate (RMP)

In which part of C4 leaf, oxygen evolution occur ?

(1) Instroma of mesophyll chloroplast

(2) In thylakoid lumen of mesophyll chloroplast

(3) In stroma of bundle sheath chloroplast

(4) In thylakoid lumen of bundle sheath chloro-
plast

AVIRAL CLASSES
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o fear e Sharpish @ 8 =1 3 9
fa=ft famea # @i axt wF A, B, C Ten D
WEE ?

fadey :
A B € D
M| fpdag | oM MR | BieR
() | amawer | BleR o i\
g
@) | =@ SR GAK o
g
@) | @fer L\ ofrd ARV

g

(i B 1 e A 1 e s e s <1

(1) uravstgs @ sufRerfy

(2) vyerevedt avis, FERIfha-a, FARIh-b
g pRIfetTs

(3) U™ F1 ured =

(4) argHRiE eI

C; gEdm # CO, ReRewwr & dvm weafis

ma B -

(1) wiEmIgAeIaEae (PEP)

(2) e 1, S-srEwiee (RuDP)

(3) wiwnffeafle e (PGA)

(4) WEges WEHiwEhe (RMP)

Cyuvf & IR 41T # Sifefo qam 81 & 2

(1) uvimeirs eReead & wEw A

(2) TviRdRTS BRAITA® D IHISS AR |

(3) yarewE gRdea® & g 7

(4) qoTeeE ERAad @ ATIDIES ATHIY |
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Q.134

Q.135

Q.136

Q.137

Which one of the following structures is an
organelle within an organelle ?

(1) Ribosome (2) Peroxisome

(3) ER (4) Mesosome

Vacuole in a plant cell -

(1) Lacks membrane and contains water and
excretory substances

(2) Is membrane-bound and comtains storage
proteins and lipids

(3) Is membrane-bound and contains water and
excretory substances

(4) Lacks membrane and contains air

In prokaryotes, the genetic material is -
(1) Linear DNA without histones

(2) Circular DNA without histones

(3) Linear DNA with histones

(4) Circular DNA with histones

Identify the components labeled A, B, C and D
in the diagram below from the list (i) to (viii)
given along with —

Components :
1. Cristae of mitochondria
ii. Inner membrane of mitochondria
ili. Cytoplasm
iv. Smooth endoplasmic reticulum
v. Rough endoplasmic reticulum
vi. Mitochondria matrix
vii. Cell vacuole
viii. Nucleus
The correct components are :
A B & D

CREATING SCHOLARS

1 v iv viii iii

2) i iv viii vi

(3) wvi v iv vii

4 v i iii ii
AVIRAL CLASSES
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= § @ eI dxae eI § BT

g2

(1) vrgards (2) uRTeReITH

(3) ER (4) frrram

gy PIf¥er ¥ Rivdaer -

(1) g f3reelt @1 3MM@ BT & T 399 i ¢4
Sooff qeref 2§

(2) foreeileg & & vd wwg OEN g fofde
TG B

(3) fircchiag Bl & d g9 T @ Sexoil ggref
BT ¥

(4) f3reeh &1 o7 BT ® Td sWH Ay B B

MR # argaifRie gaet g -
(1) fazer «fea ¥ DNA

(2) fewers 2w agar DNA

(3) faveim wfga Y& DNA

(4) feweis wfEa age DNA

W R = § W Aifed agug A, B, Cdem D
B Ara & T g (@) W (viii) TEEg -

(1) v v viii il

(2) i iv viii vi

3) wvi v iv vii

4 v i iii ii
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Q.138

Q.139

Q.140

Q.141

Q.142

In fems, meiosis takes place at the time of -
(1) Spore formation

(2) Spore germination

(3) Gamete formation

(4) Antheridia and archegonia formation

Which phase of interphase is the most important
point in regulation of the cell cycle, during which
it must decide whether the cell will start a new
cycle or will enter in Gg phase ?

(1) G; phase (2) S phase

(3) G;phase (4) Quiescent stage

The curve given below show enzymatic activity
with relation to three conditions (pH, temperature
and substrate concentration)

E

=

X-axis
‘What do the two axis (x and y) represent ?
X-axis y-axis
(1) Enzymatic activity — Temperature
(2) Enzymatic activity pH
(3) Temperature Enzyme activity
(4) Substrate Enzyme activity
concentration

Carbohydrates, the most abundant biomolecules
on earth, are produced by -

(1) Some bacteria, algae and green plant cells
(2) Fungi, algae and green plant cells

(3) All bacteria, fungi and algae

(4) Viruses, fungi and bacteria

Key stone species of community

(A) Regulate species diversity of community

(B) Regulates relative abundance of species in
community

(C) Connects the two individuals of different
species

(D) Are always predators

Correct characteristics are

=)

CREATING SCHOLARS

(1) AB.C,D (2)A.B
(3) C,D 4)A,B,D
AVIRAL CLASSES
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& ¥, erefeEr e vy g @ -

(1) @y iy

(2) Aoty ST

(3) g fmi

(4) ger va e ffo

SERIORAT B DIRN IRy HIRHT o5F B
fram @ g@ g @ e v 38 fMeflRa
BN & BIRBT TUT Th ART B TT G IR
H g7 w7

(1) G araen (2) S sraen

(3) G arawen (4) s v

o Rar mr g A= gRRafe (pH, o
va fhamr wigan) # gong® wfhaen @ quf
s _

&
=
X-axis
T el (x 7T y) @ wefRia e € 2
X-37e1 y-3181

(1) georrgHr afshan AT
(2) wgd wfen pH
(3) amgET LEEIFL I IER
(4) forammR g UwTgH e

wrategse S & gedt U¥ wew 9§ O A R,
I B B -

(1) B Shary, fare gd & wreg Sl @
(2) ®awm, dare gd &) Uy BB H

(3) w1 Shar], ®ad d darer A

(4) fawryy, ®as wd Sfiar] |

wqgr @ golie (Key stone) Usiifal

(A) THeT o wornf ffdeer @1 fAom w3 8

(B) wara # yenfodl @ anfde  agedan @
frgm sl B |

() & f=1 gonfaal @ waftsdi w1 Sred 2

(D) & ghem wwe B §

TEY &I B

(1) A,B.C,D (2)A.B

(3) C.D (4) A,B,D
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Q.143 Net community productivity of oceans is mainly

limited by :

(1) Temperature and Rainfall
(2) Nutrients and Temperature
(3) Light and Nufrients

(4) Light and CO;

Q.144 The most suitable pyramid of the biomass in

forest ecosystem is

Trophie level

T
(1) se (o l-_:]—l

PC (13 |

e (A) |

Trophic level

PP

FC

BR

Q.145 Bad ozone is present in -
(1) Stratosphere
(2) Troposphere
(3) Mesosphere
(4) Thermosphere

Q.146 Identify the plant, in which vegetative propagation

is possible by using tuber with a node.
(1) Allium

(2) Solanum

(3) Zingiber

(4) Brassica

AVIRAL CLASSES
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Q.143 #EMFR @ Y& WFENID SWEHd e o

% frad g fMafea g 2
(1) T9EE qen aut

(2) dIyE e argEE

(3) UPIY q 9D

(4) w@rer @en CO,

T aiRRfa) T3 # SieuR @ waifls Suga
Wy &

Trophic level

T (1)
(1) sc¢
PC (1) | |

PP (A) | I

Trophic level

& NS wE ol @ -
(1) FHamHIEe

(2) TS

(3) RIS

4) TroTSe

urgq @ ygelt, RS wifde yads gdafy
gal He gRT T Bl & —

(1) gferan

(2) dierm

(3) fifra

(4) sfm
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Q.147 Consider the following statements and choose

Q.148

Q.149

Q.150

Q.151

the correct option.

I The thread-like cytoplasmic strands,
running from one cell to other is known as
plasmodesmata.

II. Xylem and phloem constitute the vascular
bundle of the stem.

II. The first formed xylem elements are
described as metaxylem.

IV. Radial vascular bundles are mainly found in
the leaves.

(1) Lis true, but II, III and IV are worng

(2) I is frue, but I, III and IV are wrong

(3) I is true, but I, Il and IV are wrong

(4) Iand II are true, but I and IV are wrong

Which of the following statements about lipids

is false ?

(1) A wax is alipid

(2) Unsaturated fats are
temperature

(3) The body doesn't need any cholesterol.

(4) Both male and female sex hormones are
steroids.

liquid at room

Conifers differ from grasses in the -

(1) Fommation of endosperm before fertilization
(2) Production of seeds from ovules

(3) lack of xylem tracheids

(4) Absence of pollen tubes

The meristerm responsible for extra-stelar
secondary growth in dicot stem is

(1) Intercalary meristem

(2) Interfascicular meristem

(3) Intercalary cambium

(4) Phellogen

The end products of fermentation are -
(1) 03 and CgHsOH

(2) CO, and acetaldehyde

(3) CO;and O,

(4) CO;and C,H;OH

AVIRAL CLASSES
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et el TR e QR vl Rwe gfn-

I o @ BIfEEe Ty ot Ub $ifdie
A o HIf¥HE A W B CIHe e
PHEA 2 |

I STaed Ud WelgH o & Waed el e
gl

III. = ﬁﬁﬁ 1531 B Pk s [ M A IS | i P (bﬁc'lla
Bl

IV. 31T g Jo gead: ui ¥ Uy o ® |

() 1w &, freg 1L, 1 Q4 IV 7Terd @

@) I ¥ B, frg L I wE IV Terd @

@) 1w 8, fg L, I gd IV 7Tera @

@) L7 II e &, feg M Qd IV e @

foftrs & e # fw 3 7 SR F9+ o § 2

(1) % g& forfde & |

(2) YT T, FR B AY W TG A H
BT B

G) ™R B FH UPR D P D
gl a2 ¥

(4) =R <en =t for gl S WRgS 2 R

(1) e & yd yordry Ffor & ford
(2) domve ¥ A B IEA H
(3) wmaem aifgfar & s #
(4) w1 Tell & srgufefy #

fedom=h o W e Wi i gfg & o
SIErl fveds 8-

(1) er<iaeht feoares

(2) sr<ryfera fRvwiRs
(3) ariaeht gar

(4) BrTeT

fosva @1 aifsw ST @ -
(1) O, vd C-H:;OH

(2) CO, vd tRiefeeerss
(3) CO, 10,

(4) CO, vd C,H;0H

www.aviral.ac.in




Q.152

Q.153

Q.154

Q.155

What is antisence technology ?

(1) A cell displaying a foreign antigen used for
synthesis of antigens

(2) Production of somaclonal variants in tissue
cultures

(3) When a piece of RNA
complementary in sequence is used to stop
expression of a specific gene

(4) RNA polymerase producing DNA

that is

Pomato and bromato are produced Dy -
(1) Cybridization

(2) Conventional hybridization

(3) Somatic hybridization

(4) Gene transfer

Which of following absorbs their food directly
from body surface -
(1) Taenia
(3) Ascaris

(2) Cockroach
(4) All of above

In male cockroach genital chamber bounded
dorsally by -

(1) 9™ & 10" sterna

2) 8" & 9" stema

3) 9" & 10" turga

(4) 8" & 9" turga

NaCl returned to the interstitium by —

(1) Ascending part of 'A' part of given diagram
(2) Descending part of 'A' part of given diagram
(3) Descending part of 'D' part of given diagram
(4) Ascending part of 'D' part of given diagram

AVIRAL CLASSES
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TR ddie @ ® 2

(1) v B, @1 GEom o yaffa sl 8
S A & e ¥ ggad el ¢ |

(2) FeP T I AHGARTT SIR BT SAG

(3) 54 RNA &1 T& @US Sl %9 4 | eRll
2 s faf¥re ofm o) sifferfaa @ 99 o
o B

(4) RNA UIeis s DNA e &eal & |

qrer vd drel foee Sanfed fR T § -
(1) SIS OTer

(2) TRFRIITE HHIO

(3) F1f¥® ol

(4) S REITT=RYT

[ A s e Y R v ey B R S A
araen e B @ -
(1) &fr
(3) TR«

R facraee #§ wwfe sa gfia w9 9 B €
3.

(1) 9'Te 10 3*RE R

) 8' @ 9'srRE g

@3) 9" @ 10' 7o g

@) 8' @9’ yoF g

NaClgewdf¥e (et saae) ¥ g o ST & -

(2) BioRIg
(4) SIRTEFRT T

D 7 |
(1) A 7y forsr & 'A'WrT & RIS 4R A
() R g R & A9 & ERE W W
(3) A 7y o & 'D' W B ERE T H
(4) RA 7y st & 'D' AR & IRTE 9T A
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Q.157 Increase in ....(i)..... leads to binding of ....(ii)....

with a subunit of .....(111).....on ....(1v).... —

Q.157

seilDveee T TERIN wovs (liess B sonad(iidicess
SUSHTS ¥ ....(>1v).... T gigwT -

(a) Na" level (b) Sodium (a) Na™ %R (b) T

(c) Ca™" level (d) Calcium (c) Ca™ TR (d) Do

ks (e omtn oAt
(g) gfdrest () =R

(1) i-(c): ii-(b): 1ii-(): iv-(h)
(2)i-(c): ii-(d): iii-(e): iv-(g)
(3)i-(a): ii-(d): iii-(g); iv-(h)
(4) i-(c): ii-(b): iii-(e): iv-(g)

(1) i-(c); 1i-(b): 1ii-(£): iv-(h)
(2) i-(c); ii-(d): iii-(e): iv-(g)
(3) i-(a): ii-(d); iii-(g); iv-(h)
(4) i-(c); 1i-(b): ii-(e); iv-(g)

Q.158 During generation of action potential - Q.158 fibar favg et @9 & R -
(1) Na" moves rapidly outward (1) Na* faar A arex 3 i iy +ea 7|
(2) Na" moves rapidly inward (2) Na® digar & ey ) 3R A B B
(3) Na" moves slowely inward (3) Na™ ¥ ¥ arex & AR TR F=e ¥ |
(4) Na” moves slowely outward (4) Na™ X @ wrex @) aix i) B 2
Q.159 Match the column correctly — Q.159 il &1 el fhem fHfom —
Column-I Colunm-II eI ErE |
A Stepes i  Fovea A Wi (Stepes) 1 wifean (Fovea)
B Rods i, Oyl B e (Rods) i airer fawe)
window (Oval window)
C  Macula lutea iii  Scotopic C iagen wgRw il e g
' ; “S“’nu (Macula lutea) (Scotopic vision)
b Cl1llsta T s D fibwer (Crista) iV URgelr (Ampulla)
(1) A-ii, B-iii, C-i, D-iv (0 &, B, O, Dy
(2) A"ii, B-iV, C"iii, D"i. (2) A‘ii. B-iV, C'iii. D'i
(3) A-ii, B-iii, C-iv, D-i (3) A-ii, Biii, C-iv, D-i
(4) A-ii, B, C-iv, D-iii (4) A-ii, B-i, C-iv, D-iii
Q.160 Defective development & maturation of growing Q.160 famrwsiier wawna ¥ fAga gRadw vd aRgaa 3
baby leading to stunded growth, mental retardation, Yoo g, AR ABR, ®F diftear el
low intelligence quotient etc caused by - A T FTE FRO Y -
(1) Hypothyroidism (1) dTIRIEE &1 ACUATIY]
(2) Hypmh}u'mdls?nl (2) difeRigS @1 SHferATEoT
(3) Hypoparathyroidism i
' i (3) YreifuRige @1 e
(4) Hyperparathyroidism y
4) Yeifavrgs o1 sifoRamam
Q.161 Additional volume of air, a person can inspire by~ Q.161 @y & fRaw snae i o @fd grR1 a@
a forcible respiration is - e g far s @ -
(1) ERV (2) IRV (1) ERV (2) IRV
(3) RV @1V (3) RV 4)1v
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Q.162

Q.163

Q.164

Q.165

Q.166

Absorption of fructose & amino acid is -
(1) Active

(2) Passive

(3) Facilitated

(4) Any of above

Which option is correctly matched :

a—Pashmina (i) Cow

b — Kathiawari (i) Wool
c—Jersey (1i1) Horse

d — Malabari (iv) Goat

(1) a—(@), b-(iii), c—(@>{v), d-(ii)
(2) a—(i1), b-(ii), c—(), d-(>1v)
(3) a-(i),b-(@i), c—(@), d-(>1v)

(4) a—(ii), b—- (@), c—(i), d-(iv)

Which one of the following sequences was

proposed by Darwin and Wallace for organic

evolution ?

(1) Overproduction, variations, constancy of
population size, natural selection

(2) Variations, constancy of population size,
overproduction, natural selection

(3) Overproduction, constancy of population
size, variations, natural selection

(4) Variations, natural selection, overproduction,
constancy of population size

Spleen is referred to as

(1) Temporary endocrine gland
(2) Grave yard of RBC

(3) Largest gland

(4) Store house of WBC

What happens when the pacemaker is non

functional ?

(1) Only the auricles will contract thythmically

(2) The cardiac muscles do not contract in a
coordinated manner rhythmically

(3) Only ventricles will contract rhythmically

(4) Cardiac muscle will contract in a coordi-
nated manner rhythmically

=

AVIRAL CLASSES
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HaeTSl Ud S 3 BT STl B ® -
(1) afsFa (Active)

(2) fafspa (Passive)

(3) ¥ (Facilitated)

(4) SRR g A (Any of above)

BT RAeey T W arer 7
a— geHI 1 I
b — ST (i) &=
¢ — ot (iii) =Tet
d — FTeTaT (iv) F&
(1) a—(), b-(ii), c—(iv),
(2) a-—(ii). b— (ii), c- (i),
(3) a—(ii)), b= (i), c-(Q),
(4) a—(ii), b-(1), c—(ii),

d — (ii)
d—(iv)
d—(iv)
d - (iv)

e # @ @ ww owifde U dem g

wrdfe Sgfawa @& forr ywarfaa fear T

e ?

(1) wifesares, Al afs srer # Fafia,
AL ERC |

(2) fafdeen, wafls arar # Fafia, sftswares,
IR Ee |

(3) wfeswre, wnfts srer # Fafic, ffdw,
Ui ag+

(4) fafderen, urmfere =g, afdsares, THfs anaR
¥ frafiam

ofer Sl e @

(1) arem srawnd 7fYr &

(2) RBC &1 sfawm

(3) we el T

(4) WBC &1 938 T8

& B Al SRy sifardie 8 Wiy

(1) daa arfers Rew v & daqfoa 8w

() g fRmi ffRga ogmw # Rew w9 &
apfea el el

(3) @aa e Rew w9 I dgfaa @

@) g R FRem o & REw w9
wpfera gl

www.aviral.ac.in




Q.167

Q.168

Q.169

Q.170

Q.171

Q.172

All the functions are performed by kidney except
(1) Regulation of B.P.

(2) Regulation of body fluid pH

(3) Secretion of antibodies

(4) Removal of nitrogenous wastes

Most terrestrial insects get rid of bulk of their
nirogenous wastes as —
(1) Amino acids

(3) Uric acid

(2) urea
(4) ammonia

Snakes and lizards shed their scales as -
(1) Skin cast

(2) Cuticular cast

(3) Hair cast

(4) Scutes

Which of following structure give in diagram is
associated with allergic condition —

| l:oslnophill | T \-;n]\hlll

| Ncmrophill I Mnnncym] |'l‘ Iymawcytd |B lymphncyte|
(I A (2)B 3C @D

.u
RBC II’I'zlelelbI

Which of the following stages are found in ovary
of female human child at the time of birth

(1) Oocyte & Ovum

(2) Oogonia & Spermatogonia

(3) Oogonia & secondary oocyte

(4) Primary oocyte

Which of the following directly come under

natural selection process -

(1) Industrial melanism

(2) Intensive breeding programme

(3) Darwin's finches

(4) Divergent evolution of placental mammals
in Australia

AVIRAL CLASSES
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1 A @ fas sfaRea @it &1 gas grT f5d
S E —

(1) B.P. &1 =

(2) Y& %d pH &1 [ae

(3) "RISE B FHI

(4) TSRS R &1 fAspre

ety erfery @ie oAl g e fhw
w9 H @ § -

(1) 3T 3T (2) gRan
(3) IR It (4) swfean
W7 vd fsgemen SO 9o Bred ¥ -

(1) @S9t (cast) & wI H
(2) FYRF{ER BT TR (cast) b wI

(3) T B FeRA (cast) B ®T
(4) @& & v A

R Ty o & et § 9 Bl WREe el Rafd

[ wafde B -
- 0.
Eosinophil| [ Basophil

| RB Cl | Plareletsl

[ Neutrophill mmcyld [T lymphocyte] [B lymphocyte]
(1) A (2)B @) C “)D

R e O A A | i e S T
B areReny wg e B

(1) SHHTTE g AT

(2) s i wema

(3) s ek fgdus  wwge

4) mafie Fge

e & @ oFw amle @ua @ i @

R R A A R S L A

) sienfid o

(2) THTGEITell USTH+ BB

(3) sifda b

@) smeferar W R W@l @ Sifn
EEAEEES]
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Q.173

Q.174

Select the correct statement(s)

A. Microbial experiment show the pre-existing
advantageous mutations when selected will
result in the observation of new phenotypes.

B. Over few generation this would result in
speciation.

C. In 1938, a fish cought in South Affica
happened to be a coelacanth (lobe fins)
which was thought to be extinct. These
animals evolved into the first amphibian
living on both land and water.

D. Lichens can be used as pollution indicators.

E. Alfred Wallace, A naturalist, who worked in
Malay Archepelago (present Indonesia) has
also come to similar conclusion on natural
selection as reached by Darwinism

(1) A and B only

2) A.B,C.Dand E

(3) A and D only

(4) D and E only

Match the ARTs with their description —

I. Collected gametes are made to form the
zygote in the laboratory

II. Zygote with pronuclear stage is transferred
into the oviduct

III. Embryo with more than 8 blastomeres is
transferred into the uterus.

IV. Fusion of gametes within the female.

V. Transfer of gametes to the oviduct of the

recipient
VI. Sperm is injected info the ovum in-vitro
A. GIFT B. ZIFT
C. Al D.ICSI
E. IUT F.IVF
G. IUI H. In-vivo fertillisation

()I-GI-B,II-FIV-H V-AVI-D
@I-FI-B, II-AIV-H V-AVI-G
(3)I-F,I-B,II-E IV-H,V-A,VI-D
4I1-GI-B, II-F,IV-H,V-C,VI-E
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Q.173

Q.174

[E FAA BT TIT BTG

A. gENIfdes ga, gdadi dverIs  Sufac
TR B 9 ¥R TIE TevTed Yemr &
ROTH ¥awy =TT g B |

B. g% Wwadl W ¥s WA Ig¥ET b
IRUIREGRY BT |

C. 1938 # & #Awell <ol anhid ¥ udmel TS
wE faame ofl, S fagw @i ol off 3
S, WIS G Ol A e 9ol Yo SHIER H
AP ga |

D. AZ& UGVl YAF bl T8 SYAN B o
AP B

E. J&bs 9% b Ui denfie e #em
JAMHUCTN (TS P VSN H SR faan o
T W Ugiie Tua R wAH e et
oM W SIfds agan e

(1) ®ad A9 B

(2) A.B.C,DTE

(3) @9 AaD

(4) @aa DIE

ART &1 S& auiF & w1l e $ifog —

I UHEd e FErTEren § gae 99 §

I Udhd=d 3@ H JHae svsdred H
AR b S @

I 8 RSl AR ¥ o1ffd &1 Yo TR A
wEaRa fdar e 8

IV. 0 7 go&] &1 Goas 8 &

V. & BT RAMRY AE B vsdiief § gl
gl

VL 1] $AMEI JvSTY] # rrafea fbar i &

A. GIFT B. ZIFT

C. Al D.ICSI

E.IUT F.IVF

G.IUI H. In-vivo fava=

(T~6 M- B, I ~F Il VA YI-D
OI-F DB I—& V-1 V-AVI-G
G)I-FOT-B I -E V- V-AVI-D
#1-G,II-B,II-F,IV-H,V-C, VI-E
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Q.176

Q.177

Q.175 During the last week of the luteal phase of the

menstrual cycle the following events occur.

I. A rapid drop in progesterone level takes place

. Menstruation begins

TI. Lack of LH leads to the degeneration of the
corpus lutem

IV. The endometrium is no longer maintained

The correct order in which these occur is

1)Lm,Iv,Io

@IuLI,mv,o

(3)L IO, IL IV

(4 IL I, IL IV

During systole of heart

(1) Only atria contract

(2) Only ventricles contract

(3) Auricles and ventricles contract separately
(4) Auricles and venctricles contract simultane-

ously

In aquatic animals the, the osmotic concentration
of their body fluid change with that of the
ambient water osmotic concenfration. Such
aquatic animals are osmo

(2) Conformers

(4) Endotherms

(1) Regulators
(3) Ectotherms

Q.178 Identify the statement which is not correct

(A) Pectoral girdle is made up of 4 bones

(B) Pelvic girdle is made up of 1 bone

(C) 11™ & 12 pairs of ribs are floating ribs
(D) Bone and cartilage are mesodermal origin
MAC @c

3)B 4 A,D
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Q.175 391 TH &1 g AR & IAfH T« b da

Q.176

Q.177

Q.178

=1 g Bl B

I YoReEH R ¥ g wdE 8l ©

II. 35 g% o 8

Il LH® & F G ogfead uee &l §
IV. YUSHigaH 3/ e ol &
=18 & w5 P '

(1) LIIL, IV, IT

(LI, IV, O

(3) LIIL IL, IV

(H I, T, 1T, IV

BSY B 3MqaT (systole) & IR

(1) dgar snfers Agfad gian &

(2) daa Fera dgfaa s 8

(3) enfers T fAerg gord w1 & Hfed BRI 8 |
(4) snfer g fFrerg we—arI JgEd B 2 |

STl Sgall H, 39 IR TR Pl WSl D!
IRt oTa eV A & ARl 9Ee B |
¥ UHR & oI Bl ©
(1) fFrams
(3) afgard

(2) TRTERVT 2R

(4) arer:ardy

U B gEErd Hifrg 1 6 |E T8 &

(A) oiergen, 4 sRer] w1 fAf¥a grcfl &1

(B) #iroirraen 1 aiRer &1 fAfifa et 81

(©) 11" Tom 12% I wwferdt wenfén wwferan
(floating ribs) BT ¥

(D) a1 vd SuiiRer fasirede Safa @ & 81

(DA, C @yic

(3B 4) A, D
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Q.179 Implantation or uterine attachment of the  Q.179 3IRIUY A HRHYL! B LA F G B Bl

blastocyst presumably occurs between 3
(1) 2™ and 5™ days after ovulation (1) ISR & SR UR ol e 27 @ g
(2) 1% and 3" days after ovulation @) s & S AR e e B & e

(3) 7™and 9" days after ovulation

(3) ISR B SR AR q i o @ He
th th . :
(4) 9" and 11" days after ovulation @ _— S e —

Q.180 Sequence of hormones during menstrual cycleis ~ Q.180 #ifi® = & SINH BHNT &1 HH Bl &
(1) Oestrogen, progesterone and FSH (1) TERIom, oRN vd FSH
(2) Progesterone, oestrogen and FSH (2) e, W vt FSH
(3) FSH, oestrogen and progesterone )
(3) FSH, TREIo T4 Hromesi

(4) FSH, SRR 06 wgor

(4) FSH, progesterone and oestrogen
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